QUESTION PATTERN OF COMPUTER SCIENCE

MCQ SA Descriptive
Sl.no. Unit (21 Nos.) (14 Nos.) (5 Nos.) TOTAL
(1 mark) (1 mark) (7 marks)
l A. (i) Evolution of compgters 20x1M=2 1Qx1M=1 1Qx7TM=7 10
' and computer Organization
2. A. (ii) Data Representation 2x1=2 Ix1=1 Ix7=7 10
3. A.(iii) Boolean Algebra 7x1=7 Ix1=1 1x7=7 15
Group A 35
4. ! B. Software and Languages ‘ 2X1=2 ! Ix1=1 I 1x7=7 10
Group B 10
5. | C.ProgramminginC | 8xI1=8 | 10xI=10 | 1x7=7 25
Group C 25
21 marks 14 marks 35 marks Total — 70
— (21Questions) | (14Questions) | (5Questions) marks
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Special credit will be given for answers which are brief and to the point.
Marks will be deducted for spelling mistakes, untidiness and bad handwriting.
Figures in the margin indicate full marks for the questions.
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MCQ Type Questions : S THET o
1. YT SOETEEIE, A+ A=?
a A b) 1
c O d A.
2. fysfiRe chimroelo™ W @i 'C' Language-9 Data Type (IIRITH ?
a) break b) float
c) if d) continue.
fremt - ¢
Short Answer Type Questions : > TAFET %

1. Wi 2GR weimafte Fiesy w1 & @ 2
2. 'C'language-9 'keyword' % ?

et - of
Broad Type Questions : q NEET o
1. a) 1'scomplement 8§ 2's complement method IRIT & [E 39 - 4
(1110),-(1010),
b) (-13 )10 “9¥ 8 bit 2's complement IEREESE 3
2. a) Time Sharing System <09 T @2 2
b) Booting % ? 2
c) RS UNIX Command &7® 3% @1} : 1% + 1% = 3
i) Is i)  cp.
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( English Version )

GROUP - A
MCQ Type Questions : 1 mark each
1. In Boolean Algebra, A+ A=7?
aj A b) 1
o) O d A.
2.  Which of the following is a data type in 'C' language ?
a) Dbreak b) float
c) if d) continue.
GROUP - B
Short Answer Type Questions : 1 mark each

1. What do you mean by multiuser operating system ?
2.  What is keyword in 'C' language ?
GROUP-C
Broad Type Questions : 7 marks each
1. a) Subtract the following using 1's complement and 2's complement
method : 4
(1110),-(1010),

b) Represent (-13), in 8 bit 2's complement form. 3
2. a) What do you mean by Time Sharing System ? 2
b) What is Booting ? 2
c) Write down the functions of following UNIX commands : 1% + 1%2=3

i) Is i) cp.




